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Space for Rough Work

01.  The dimensions of intensity are

(1) M1L0T–3 (2) M2L1T–2

(3) M1L2T–2 (4) M2L0T–3

02.  A wheel of radius 3m rolls forward half a revolution on

a horizontal ground. The magnitude of the displacement

of the point of the wheel initially in contact with ground

is:

(1) 2� (2) 2

(3) 2 4 (4) 23 4

03.  The number of significant figures in 0.06900 is:

(1) 5 (2) 4
(3) 2 (4) 3

01.  

(1) M1L0T–3 (2) M2L1T–2

(3) M1L2T–2 (4) M2L0T–3

02.

(1) 2� (2) 2

(3) 2 4 (4) 23 4

03. 0.06900 

(1) 5 (2) 4
(3) 2 (4) 3
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04.  An object is projected upwards with a velocity of 100

m/s. If g = 10 m/s2 then it will strike the ground in

approximate

(1) 10 sec (2) 20 sec
(3) 15 sec (4) 5 sec

05.  A body travels a distance s1 with velocity v1 and

distance s2 with velocity v2 in same direction. Calculate

average velocity of the body.

(1) 
1 2 1 2

1 2 2 1

s s v v

s v s v (2) 
1 2

1 2 2 1

v v

s v s v

(3) 
1 2 1 2

1 2 2 1

s s v v

s v s v (4) 1 2v v

2

06.  The block of mass ‘m’ moving on the frictionless

horizontal surface collides with the spring of spring

constant ‘k’ and compress it by length ‘L’. The maximum

momentum of block after collision.

(1) zero (2) 
2ML

K

(3) MKL (4) 
2KL

2M

07.  A ball is dropped from height ‘H’ on to a horizontal

surface. If the coefficient of restitution is ‘e’ then total

time after which it comes to rest is:

(1) 
2H 1 e

g 1 e (2) 
2H 1 e

g 1 e

(3) 
2

2

2H 1 e

g 1 e (4) 
2

2

2H 1 e

g 1 e

04. 100 m/s 

g = 10 m/s2 

(1) 10 sec (2) 20 sec
(3) 15 sec (4) 5 sec

05.  v1 s1 v2

s2 

(1) 
1 2 1 2

1 2 2 1

s s v v

s v s v (2) 
1 2

1 2 2 1

v v

s v s v

(3) 
1 2 1 2

1 2 2 1

s s v v

s v s v (4) 1 2v v

2

06. ‘m’ 

‘k’  

‘L’ 

(1) zero (2) 
2ML

K

(3) MKL (4) 
2KL

2M

07.  ‘H’ 

‘e’ 

(1) 
2H 1 e

g 1 e (2) 
2H 1 e

g 1 e

(3) 
2

2

2H 1 e

g 1 e (4) 
2

2

2H 1 e

g 1 eP
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08.  The blocks A and B of masses 3m and m respectively

are connected by massless and inextensible string. The

whole system is suspended by a mass less spring. The

magnitude of acceleration of A and B immediately after

the string is cut are

(1) g,g (2) g/3, g/3
(3) g/2, g/2 (4) g/3, g

09.  The position ‘x’ of a particle at time ‘t’ is given by :

at0v
x 1 e

a
Where v0 is constant and a > 0. The

dimensions of v0 and a are:

(1) M0LT–1 and T–1 (2) M0LT0 and T–1

(3) M0LT–1 and LT–2 (4) M0LT–1 and T

10.  You measure two quantities A = 1.0 m + 0.2 m, B = 2.0

m + 0.2 m. We should report correct value for AB as:

(1) 1.4 m + 0.4 m (2) 1.41 m + 0.15 m
(3) 1.4 m + 0.3 m (4) 1.4 m + 0.2 m

11.  A ball ‘B’ is at 300 cm distance from origin on a line

37º above horizontal. Another ball ‘A’ is projected directly

aiming ‘B’ with initial velocity 700 cm/s. At the same

instant ‘B’ is relased from its position. How far will ‘B’

have fallen when it is hit by ‘A’?

AB =
 3

00
 c

m

B

A
37º

(1) 90 cm (2) 80 cm

(3) 70 cm (4) 60 cm

08.  A B 3m m 

A B 

(1) g,g (2) g/3, g/3
(3) g/2, g/2 (4) g/3, g

09.  t 
at0v

x 1 e
a

 

v0 a > 0 

v0 a 

(1) M0LT–1 and T–1 (2) M0LT0 and T–1

(3) M0LT–1 and LT–2 (4) M0LT–1 and T

10. A = 1.0 m + 0.2 m, B = 2.0 m + 0.2 m

AB :

(1) 1.4 m + 0.4 m (2) 1.41 m + 0.15 m
(3) 1.4 m + 0.3 m (4) 1.4 m + 0.2 m

11. ‘B’ 37º 300 cm 

‘A’ 700 cm/sec 

‘B’ ‘B’ 

‘B’ 

‘A’ ?

AB =
 3

00
 c

m

B

A
37º

(1) 90 cm (2) 80 cm

(3) 70 cm (4) 60 cmP
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12.  Two vectors A
�

and B
�

are such that

A B A B
� �� �

then the angle between the two

vectors A
�

 and B
�

will  be:

(1) 0º (2) �/3
(3) �/6 (4) �/2

13.  Ratio between maximum range and square of time of

flight in angular projection motion is:

(1) 1 (2) 2
(3) 4 (4) 5

14.  A body of weight 5 kg is suspended as shown in figure.

The tension T1 in horizontal string (in kg - wt) is:

60º

T1

T2

2kg – wt

(1) 
2

3
(2) 

3

2

(3) 
2

3
(4) 

3

2

12.  A
�

B
�

A B A B
� �� �

A
�

 B
�

:

(1) 0º (2) �/3

(3) �/6 (4) �/2

13.  

(1) 1 (2) 2
(3) 4 (4) 5

14.  5 kg 

T1 (in kg - wt) 

60º

T1

T2

2kg – wt

(1) 
2

3
(2) 

3

2

(3) 
2

3
(4) 

3

2
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15.  In the given figure, a mass of 4 kg rests on a horizontal

plane. The inclination of plane is gradually increased.

The mass just begins to slide at � = 15º. What is

coefficient of static friction between the block and the

surface.

 

mass 

15º

(1) 0.50 (2) 0.27
(3) 0.85 (4) 0.60

16.  When a stone is rotating in a circle by a string, then

which force provide the centripetal force

(1) Tension (2) Weight of stone

(3) both 1, 2 (4) none of above

17.  Which one of the following represents the x–t graph of

two objects A and B moving with zero relative speed?

(1) 

A

B

t

x

(2) 

A
B

t

x

(3) 

A
B

t

x

(4) B

A

t

x

15. 4 kg 

 �
= 15º 

 

mass 

15º

(1) 0.50 (2) 0.27
(3) 0.85 (4) 0.60

16.  

(1) (2) 

(3) 1, 2 (4) 

17.  

A B 

(1) 

A

B

t

x

(2) 

A
B

t

x

(3) 

A
B

t

x

(4) B

A

t

x
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18.  A particle moves along a straight line such that its

displacement at any time ‘t’ is  given by,

s = (t3 – 6t2 + 3t + 4) m What is the velocity of particle

when its acceleration is zero .

(1) 9 m/s (2) –9 m/s

 (3) 6 m/s (4) –6 m/s

19.  A force applied by an engine of a train of mass 2.05 ×

106 kg changes its velocity from 5 m/s to 35 m/s in 15

minutes. The power of engine is:

(1) 1.36 hp (2) 1.36 Mw
(3) 1.36 w (4) none

20.  In a ballistic demonstration a police officer fires bullet

of mass 100 g with a speed of 25 m/s on a wooden

block of thickness 4 cm. The bullet emerges with only

20% of its initial kinetic energy. What will be the

emergent speed of the bullet?

(1) 121 m/s (2) 141 m/s
(3) 112 m/s (4) 131 m/s

21.  AB is a frictionless inclined surface making an angle

of 30º with horizontal. ‘A’ is 6.3 m above the ground

while ‘B’ is 3.8 m above the ground. A block slides

down from ‘A’ initially starting from rest. Its velocity of

block on reaching ‘B’ is:
A

6.3 m

B
3.8 m

30º

(1) 7 m/s (2) 14 m/s

(3) 7.4 m/s (4) 4.9 m/s

18.  

‘t’ s = (t3 – 6t2 + 3t + 4) m 

(1) 9 m/s (2) –9 m/s

 (3) 6 m/s (4) –6 m/s

19. 2.05 × 106 kg 

5 m/s 35 m/s 

(1) 1.36 hp (2) 1.36 Mw
(3) 1.36 w (4) 

20.  

25 m/s 

20% 

(1) 121 m/s (2) 141 m/s
(3) 112 m/s (4) 131 m/s

21.  AB 30º 

‘A’ 6.3 m ‘B’ 3.8 m 

A 

‘B’ :

A

6.3 m

B
3.8 m

30º

(1) 7 m/s (2) 14 m/s

(3) 7.4 m/s (4) 4.9 m/sP
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22.  A ball of 4 kg mass and a speed of 3 m/s has a head on

elastic collision with a 6 kg mass initially at rest. The

speeds of both the bodies after collision are respectively.

(1) 0.6 m/s & 2.4 m/s (2) –0.6 m/s & –2.4 m/s
(3) –0.6 m/s & 2.4 m/s (4) –2.4 m/s & 0.6 m/s

23.  A block of mass ‘m’ is connected to another block of

mass ‘M’ by a spring (massles) of spring constant ‘K’.

The block are kept on a smooth horizontal plane. Initially

the block are at rest and spring is unstretched. Then a

constant force ‘F’ starts acting on the block of mass

‘m’ to pull it. Find the force on block of mass ‘M’.

(1) 
Mm

M m
(2) 

F

M m

(3) 
mF

M m
(4) 

MF

M m

24.  Two masses of 8 kg and 4 kg are connected by a string

as shown in figure over a frictionless pulley. The

acceleration of the system is:

m2 4 kgm 1

8 kg

60º

(1) –0.1 m/s2 (2) 4 m/s2

(3) 3 m/s2 (4) –2.31 m/s2

22.  4 kg 3 m/s 

6 kg 

(1) 0.6 m/s & 2.4 m/s (2) –0.6 m/s & –2.4 m/s
(3) –0.6 m/s & 2.4 m/s (4) –2.4 m/s & 0.6 m/s

23. ‘m’ ‘M’ 

‘K’ 

m ‘F’ 

‘M’ 

.

(1) 
Mm

M m
(2) 

F

M m

(3) 
mF

M m
(4) 

MF

M m

24.  8 kg 4 kg 

m2 4 kgm 1

8 kg

60º

(1) –0.1 m/s2 (2) 4 m/s2

(3) 3 m/s2 (4) –2.31 m/s2

P
R
IN

C
E
 O

L
YM

P
IA

D



Class : XI/F1 IIT-JEE | NEET | NTSE | OLYMPIADS | KVPYPCP,  S ikar 8

www.princeeduhub.com

Space for Rough Work

25.  The numbers 2.745 and 2.735 on rounding off to 3

significant figures will give:

(1) 2.75 and 2.74 (2) 2.74 and 2.73

(3) 2.75 and 2.73 (4) 2.74 and 2.74

26.  Which one is strongest force

(1) Gravitational force (2) Magnetic force

(3) Electrostatic force (4) Nuclear force

27.  A body starts from rest at time t = 0, the a – t graph is

shown in figure. The maximum velocity attained by the

body will be:

t (sec)
11

10

a (m/s )2

(1) 110 m/s (2) 55 m/s

(3) 650 m/s (4) 550 m/s

28.  Which of the following curve does not represent motion

in 1–D.

(1) 

t

v

(2) 

t

v

(3) 

t

v

(4) 
t

v

25.  2.745 2.735 

(1) 2.75 2.74 (2) 2.74 2.73

(3) 2.75 2.73 (4) 2.74 2.74

26.  

(1) (2) 

(3) (4) 

27. t = 0, 

t (sec)
11

10

a (m/s )2

(1) 110 m/s (2) 55 m/s

(3) 650 m/s (4) 550 m/s

28.  

(1) 

t

v

(2) 

t

v

(3) 

t

v

(4) 
t

v
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29.  The width of river is 1 km. The velocity of boat is 5

km/h. The boat covered the width of river in shortest

time 15 minutes. Then the velocity of river steam is:

(1) 3 km/h (2) 4 km/h

(3) 29km / h (4) 41km / h

30.  A cricket ball is hit at 45º to the horizontal with a kinetic

energy E. The kinetic energy at highest point is:

(1) 0 (2) E/2

(3) E / 2 (4) E

29.  1 km 5 km/h 

15 

(1) 3 km/h (2) 4 km/h

(3) 29km / h (4) 41km / h

30.  45º E 

(1) 0 (2) E/2

(3) E / 2 (4) E

P
R
IN

C
E
 O

L
YM

P
IA

D



Class : XI/F1 IIT-JEE | NEET | NTSE | OLYMPIADS | KVPYPCP,  S ikar 10

www.princeeduhub.com

Space for Rough Work

31. Let mass of electron is half, mass of proton is two times

and mass of neutron is three fourth of original masses,

then new atomic weight of 16O atom :-

(1) increases by 37.5% (2) remains constant

(3) increases by 12.5% (4) decreases by 25%

32. Which of the following is a correct graph :-

(1) 

n

K.E

(2) 

n

K.E

�

(3) 

K.E

n

(4) 

Z

K.E

2

33. Which of the following pairs of ions are isoelectronic

and isostructural ?

(1) 2
3 3,ClO CO� � (2) 2

3 3,SO NO� �

(3) 2
3 3,ClO SO� � (4) 2 2

3 3,CO SO� �

34. A 1 kw radio transmitter operates at a frequency

of 800 Hz. How many photons per second does it

emit.

(1) 211.71 10� (2) 331.88 10�
(3) 236.02 10� (4) 202.85 10�

35. If number of protons in 2X �  is 16, then no. of electrons

in 2X �  will be :-

(1) 14 (2) 16

(3) 18 (4) None

31.

nksxquk rFkk U;wVªksu dk rhu pkSFkkbZ dj ns rks 16O 

(1) 37.5% (2) 

(3) 12.5% (4) 25% 

32.

(1) 

n

K.E

(2) 

n

K.E

�

(3) 

K.E

n

(4) 

Z

K.E

2

33.

(1) 2
3 3,ClO CO� � (2) 2

3 3,SO NO� �

(3) 2
3 3,ClO SO� � (4) 2 2

3 3,CO SO� �

34. 1 kw 800 Hz 

(1) 211.71 10� (2) 331.88 10�
(3) 236.02 10� (4) 202.85 10�

35. 2X � 16 2X �

(1) 14 (2) 16

(3) 18 (4) P
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36. The number of Significant figure in is/are ?

(1) 1 (2) 10

(3) 100 (4) Infinite

37. Which of the following has least de-Broglie

wavelenght ?

(1) e (2) P

(3) CO2 (4) SO2

38. The total number of value of 'm' for the electrons

in n = 4 is :-

(1) 4 (2) 8

(3) 16 (4) 32

39. 1 amu is :-

(1) 241.66 10�� kg (2) 271.66 10��  kg

(3) 
1

NA
(4) Both (2) and (3)

40. Find the charge of 48 g of Mg 2+ ions in coulombs :-
(1) 232.4 10 C� (2) 56.82 10 C�
(3) 53.86 10 C� (4) 51.93 10 C�

41. A hydrocarbon contains 91.3% carbon by mass. Find
the empirical formula of hydrocrabon :-
(1) CH (2) C2H3

(3) C7H8 (4) C3H5

42. Molarity of pure water is :-
(1) 1 M (2) 55.5 M
(3) 27.7 M (4) 80.5 M

43. Calculate the volume of water to be added to 400 mL
of seminormal HCl solution to make it decinormal :-
(1) 1000 mL (2) 1200 mL
(3) 1600 mL (4) 2000 mL

36.

(1) 1 (2) 10

(3) 100 (4) 

37.

(1) e (2) P

(3) CO2 (4) SO2

38. n = 4 'm' 

(1) 4 (2) 8

(3) 16 (4) 32

39. 1 amu :-

(1) 241.66 10�� kg (2) 271.66 10��  kg

(3) 
1

NA
(4) (2) (3)  

40. 48 g , Mg 2+ ( ) 
(1) 232.4 10 C� (2) 56.82 10 C�
(3) 53.86 10 C� (4) 51.93 10 C�

41. 91.3% 

(1) CH (2) C2H3

(3) C7H8 (4) C3H5

42.
(1) 1 M (2) 55.5 M
(3) 27.7 M (4) 80.5 M

43. 400 mL HCl 

(1) 1000 mL (2) 1200 mL
(3) 1600 mL (4) 2000 mL
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44. The molality of a sulphuric acid solution is 0.6 mol/kg.
The total weight of solution is if solvent 1 kg:-
(1) 1000 g (2) 980.3 g
(3) 1058.8 g (4) 1013.3g

45. The correct order of ionic radii of the following
species is :-

(1) 2 2Se I Br O F

(2) 2 2I Se O Br F

(3) 2 2Se I Br F O

(4) 2 2I Se Br O F
46. Which has lowest electron affinity ?

(1) O (2) S
(3) Se (4) Te

47. Which has lowest ionisation enthalpy ?
(1) Chlorine (2) Oxygen
(3) Nitrogen (4) Neon

48 . Elements with electronic configuration ns1 are
known as :-
(1) inert gases (2) alkali metals
(3) transuranic elements (4) Halogens

49. The number of elements known at that time when
Mendeleev arranged them in the periodic table was :-
(1) 60 (2) 71
(3) 63 (4) 65

50. Which is correct about ionisation enthalpies ?

(1) Ne Ne�� (2) Ne Ne� �
(3) Both (1) and (2) (4) None of these

51. Octet rule is not satisfied for which of the following
molecules :-
(1) Cl

2 (2) ClO2

(3) CO2 (4) N2

52. Which of the following is a hypovalent compound ?
(1) NF3 (2) NH3

(3) BF3 (4) IF7

44. 0.6 mol/kg 
1 kg 

(1) 1000 g (2) 980.3 g
(3) 1058.8 g (4) 1013.3g

45.

(1) 2 2Se I Br O F

(2) 2 2I Se O Br F

(3) 2 2Se I Br F O

(4) 2 2I Se Br O F
46.

(1) O (2) S
(3) Se (4) Te

47.
(1) (2) 
(3) (4) 

48. ns1 

(1) (2) 
(3) (4) 

49.

(1) 60 (2) 71
(3) 63 (4) 65

50.

(1) Ne Ne�� (2) Ne Ne� �
(3) (1) (2) (4) 

51.

(1) Cl2 (2) ClO2

(3) CO2 (4) N2

52.
(1) NF3 (2) NH3

(3) BF3 (4) IF7P
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53. Which is not planar ?

(1) 2 2CH C CH� �

(2) 2 2CH CH�

(3) 2 2CH CH CH CH� � �

(4) 2CH CH C CH� � �
54. Shape of NH3 is :-

(1) Tetrahedral (2) Pyramidal
(3) Square Planar (4) Planar

55. Which of the following species has the shortest bond
lenght ?

(1) 2N � (2) 2N

(3) 2N � (4) 2
2N �

56. Shape of XeF4 is :-
(1) Tetrahedral (2) Square planar
(3) Square pyramidal (4) trigonal Pyramidal

57. Which of the following species contain only �  bond ?

(1) SiF4 (2) 3NO�

(3) HNC (4) 2
3SO �

58. In which of the following molecules, central atom is sp2

hybridised :-

(1) BeF2 (2) BCl3

(3) NH3 (4) ClF3

59. The number of non-bonding electrons pairs in O2

molecule is :-

(1) 2 (2) 6

(3) 4 (4) 8

60. Among the following the element having highest

ionisation enthalpy as well as positive electron gain en-

thalpy  is :-

(1) H (2) F

(3) He (4) Na

53. ?

(1) 2 2CH C CH� �

(2) 2 2CH CH�

(3) 2 2CH CH CH CH� � �

(4) 2CH CH C CH� � �
54. NH3 

(1) (2) 
(3) (4) 

55.

(1) 2N � (2) 2N

(3) 2N � (4) 2
2N �

56. XeF4 
(1) (2) 
(3) (4) 

57. �   ?

(1) SiF4 (2) 3NO�

(3) HNC (4) 2
3SO �

58. sp2 

(1) BeF2 (2) BCl3

(3) NH3 (4) ClF3

59. O2 

(1) 2 (2) 6

(3) 4 (4) 8

60.

(1) H (2) F

(3) He (4) NaP
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61. In the figure, given below, the shaded region is:

C

A

B

(1) A  (B C) (2) A  (B C)

(3) A  (B–C) (4) A–(B C)

62. If A  B = �, then (A B') is:

(1) A (2) B

(3) A' (4) B'

63. If z z z z 2 then z lies on

(1) a straight line (2) a set of four lines

(3) a circle (4) None of these

64. If (a + ib) 
1 i

1 i
,then value of (a2 + b2) is:

(1) 1 (2) –1

(3) 2 (4) –2

65. The number of all possible relations between A to A if

number of elements in set A are '5'.

(1) 25 (2) 52

(3) 25 (4) 225

66. Evaluate : (2 + i)4 + (2 – i)2

(1) –24 + 32i (2) –24 – 32i

(3) 4 – 20i (4) –4 + 20i

67. If arg(z) = �/4, then

(1) Re(z2) = 0 (2) Im (z2) = 0

(3) Re (z2) = Im (z2) (4) None of these

61.

C

A

B

(1) A  (B C) (2) A  (B C)

(3) A  (B–C) (4) A–(B C)

62. A  B = �, (A B') 

(1) A (2) B

(3) A' (4) B'

63.  z z z z 2 z 

(1) (2) 

(3) (4) 

64. (a + ib) 
1 i

1 i
, (a2 + b2) :

(1) 1 (2) –1

(3) 2 (4) –2

65. A A A 

(1) 25 (2) 52

(3) 25 (4) 225

66.  (2 + i)4 + (2 – i)2

(1) –24 + 32i (2) –24 – 32i

(3) 4 – 20i (4) –4 + 20i

67. arg(z) = �/4, 

(1) Re(z2) = 0 (2) Im (z2) = 0

(3) Re (z2) = Im (z2) (4) P
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68.

7 7

1 i 3 1 i 3
?

2 2

(1) 1 (2) –1

(3) 0 (4) 

69. 1, w, w2 (2 + 5w + 2w2)6 

(1) 576 (2) 625

(3) 729 (4) 

70. sec� – tan� = 2/3, sec� 

(1) 
12

13
(2) 

13

12

(3)
5

4
(4) 

71. 7sin2� + 3cos2� = 4, tan� :

(1) 
1

2
(2) 

1

3

(3) 
1

2
(4) 

1

3
72. x = a secn� y = b tann�, � 

(1) 

1 1

n nx y
1

a b
(2) 

2 2

n nx y
1

a b

(3) 

2 2
x y

1
a b

(4) 

73. tan(x/2) = 5/12 sinx 

(1) 
25

169
(2) 

125

144

(3) 
120

169
(4) 

68.

7 7

1 i 3 1 i 3
?

2 2

(1) 1 (2) –1

(3) 0 (4) None of these

69. If 1, w, w2 be cube roots of unity, then the value of

(2 + 5w + 2w2)6 is:

(1) 576 (2) 625

(3) 729 (4) None of these

70. If sec� – tan� = 2/3, then sec� = ?

(1) 
12

13
(2) 

13

12

(3)
5

4
(4) None of these

71. If 7sin2� + 3cos2� = 4, then the value of tan� is:

(1) 
1

2
(2) 

1

3

(3) 
1

2
(4) 

1

3
72. If x = a secn� and y = b tann�, then � eliminant is:

(1) 

1 1

n nx y
1

a b
(2) 

2 2

n nx y
1

a b

(3) 

2 2
x y

1
a b

(4) None of these

73. If tan(x/2) = 5/12 then value of sinx is:

(1) 
25

169
(2) 

125

144

(3) 
120

169
(4) None of these
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74.
1 3

sin10º cos10º
(1) 0 (2) 1

(3) 2 (4) 4

75.
cos9º sin 9º

cos9º sin 9º
(1) tan54º (2) tan36º

(3) cot54º (4) cot45º

76. tan20º + tan40º + 3 tan20ºtan40º = ?

(1) 3 (2) 
1

3
(3) 1 (4) 

77.
sin x y a b

sin x y a b

tan x

tan y = ?

(1) 
b

a
(2) 

a

b
(3) ab (4) 1

78. 0,1,2,3,4 

(1) 24 (2) 48

(3) 96 (4) 120

79. c(n,12) = c(n,8) c(22,n) 

(1) 131 (2) 256

(3) 242 (4) 231

80. 'BASEBALL' 

(1) 540 (2) 1260

(3) 3780 (4) 5040

81. 14 

(1) 90 (2) 91

(3) 143 (4) 

74. What is 
1 3

sin10º cos10º
equal to :

(1) 0 (2) 1

(3) 2 (4) 4

75.
cos9º sin 9º

cos9º sin 9º
is equal to :

(1) tan54º (2) tan36º

(3) cot54º (4) cot45º

76. tan20º + tan40º + 3 tan20ºtan40º = ?

(1) 3 (2) 
1

3
(3) 1 (4) None of these

77. If 
sin x y a b

sin x y a b then 
tan x

tan y = ?

(1) 
b

a
(2) 

a

b
(3) ab (4) 1

78. What is the number of five digit numbers formed with

0,1,2,3,4 without any repetition of digit:

(1) 24 (2) 48

(3) 96 (4) 120

79. If c(n,12) = c(n,8) then what is the value of c(22,n) ?

(1) 131 (2) 256

(3) 242 (4) 231

80. The number of permutations that can be formed from

all the letters of the word 'BASEBALL' is:

(1) 540 (2) 1260

(3) 3780 (4) 5040

81. 14 persons shakes hand in a party to each other how

many hand shakes cure?

(1) 90 (2) 91

(3) 143 (4) None of theseP
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82. sin� + cos� = 0 0 < � < �, � 

(1) 0 (2) �/4

(3) �/2 (4) 3�/4

83. tanA + cotA = 4, tan4A + cot4A 

(1) 110 (2) 191

(3) 80 (4) 194

84.
1

3

x
sin log

3

(1) [1,9] (2) [–1,9]

(3) [–9, –1] (4) [–9,1]

85. P P = {(x,y)/x2 + y2 = 1,

x,y R} P 

(1) (2) 

(3) (4) 

86. |z1| = |z2| = ...... = |zn| = 1, |z1 + z2 + z3 + .....+ zn|

(1) 1

(2) |z1| + |z2| + |z3| ..... + |zn|

(3) 
l 2 3 n

1 1 1 1
....

z z z z

(4) 

87. x 1 < |x – 1| < 8

(1) (–7,0] [2,9] (2) [–7,0] [2,9]

(3) [–7,0) [2,9) (4) [–7,0] (2,9)

88.

2

3 2

x 1 x x 1
0

x 1 x 4

(1) (–2, –1) [1,2] (2) [–2, –1] (1,2)

(3) (–2, –1] [1,2) (4) (–2, –1) [1,2)

89. nP4 = 24. nC5 'n' :

(1) 10 (2) 15

(3) 9 (4) 5

82. If sin� + cos� = 0 and 0 < � < �, then � = ?

(1) 0 (2) �/4

(3) �/2 (4) 3�/4

83. If tanA + cotA = 4, then tan4A + cot4A is equal to:

(1) 110 (2) 191

(3) 80 (4) 194

84. The domain of 
1

3

x
sin log

3 is:

(1) [1,9] (2) [–1,9]

(3) [–9, –1] (4) [–9,1]

85. Let P {(x,y)/x2 + y2 = 1, x,y R} then is:

(1) reflexive (2) symmetric

(3) transitive (4) anit-symmetric

86. If |z1| = |z2| = ...... = |zn| = 1, then the value of |z1 + z2 +

z3 + .....+ zn| =

(1) 1

(2) |z1| + |z2| + |z3| ..... + |zn|

(3) 
l 2 3 n

1 1 1 1
....

z z z z

(4) None of these

87. value of x is when 1 < |x – 1| < 8

(1) (–7,0] [2,9] (2) [–7,0] [2,9]

(3) [–7,0) [2,9) (4) [–7,0] (2,9)

88. solution of inequility is 

2

3 2

x 1 x x 1
0

x 1 x 4  :

(1) (–2, –1) [1,2] (2) [–2, –1] (1,2)

(3) (–2, –1] [1,2) (4) (–2, –1) [1,2)

89. If nP4 = 24. nC5 then the value of 'n' is:

(1) 10 (2) 15

(3) 9 (4) 5P
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90. The value of 15C3 + 15C13 is:

(1) 16C3 (2) 30C16

(3) 15C10 (4) 15C15

90. 15C3 + 15C13 

(1) 16C3 (2) 30C16

(3) 15C10 (4) 15C15
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MAT
91. College : Dean :: Museum : ?

(1) Curator (2) Warden
(3) Custodian (4) Supervisor

92. 72 : 18 :: 56 : ?
(1) 63 (2) 66
(3) 22 (4) 124

93. 0.5, 2, 4.5, 8, 12.5, ?
(1) 16 (2) 17
(3) 16.5 (4) 18

94. In a certain code, BELIEF is written as AFKKDI. how
is SELDOM written in the code?
(1) RDKCNL (2) RFKENM
(3) RFKFNP (4) TFKENP

95. How many Educated people are employed ?

(1) 24 (2) 16
(3) 18 (4) 26

96. Four forms of a dice are shown below in this dice which
digit will be on the surface opposite to the digit 3?

(1) 5 (2) 4
(3) 2 (4) 6

91.

(1) (2) 

(3) (4) 

92. 72 : 18 :: 56 : ?

(1) 63 (2) 66

(3) 22 (4) 124

93. 0.5, 2, 4.5, 8, 12.5, ?

(1) 16 (2) 17

(3) 16.5 (4) 18

94. ‘BELIEF’ AFKKDI’ 

 SELDOM

(1) RDKCNL (2) RFKENM

(3) RFKFNP (4) TFKENP

95.

f’kf{kr

dk;Zjr

xzkeh.k

(1) 24 (2) 16

(3) 18 (4) 26

96.

5

(1) 5 (2) 4

(3) 2 (4) 6P
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97. Sumit walks 20 m. to the East from point ‘A’, Then
walks 20 m. in South-West direction. Then walks 20 m
in North-West direction and reaches at point B. Find
distance b/w A and B.?

(1) 0 m. (2) 20 2 1  m.

(3) 20 m. (4) 20 2  m.

98. In a row of girls, If Sujata is 10th from the left and

Namrata is 9th from the right, interchange their positions,

Sujata becomes 23rd from the left. How many girls are

there in the row?

(1) 32 (2) 31

(3) 30 (4) 34

99. Introducing a man to her husband a woman said
“His brother’s father is the only son of my grand
father”. How is the woman related to this man?

(1) Mother (2) Aunt
(3) Sister (4) Daughter

100. How many triangles are there in the following figure ?

(1) 11 (2) 13
(3) 9 (4) 15

97. ‘A’ 20 

‘B’ A B

(1) 0 m. (2) 20 2 1  m.

(3) 20 m. (4) 20 2  m.

98. 10

9

23

(1) 32 (2) 31

(3) 30 (4) 34

99.

“ ”

(1) (2) 

(3) (4) 

100.

(1) 11 (2) 13

(3) 9 (4) 15
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